
 
 

CARBURETOR SPLASH GUARD 
PART# - RY12320-OE 

INSTALLATION INSTRUCTIONS 
APPLICATIONS:  GP1200R, XL1200Ltd & XLT1200 w/OEM & Aftermarket Carburetors 

 
1. On the carburetor side of motor, remove one each (two total) of the OE 8 X 30mm bolts holding the motor mounts to the hull 

facing each other (reference image #2). 

2. Install the Riva GP1200R Carburetor Splash Guard mounting plate so that the five M5 boltholes are facing up using the two 
included 8 X 40mm bolts and M8 washers (reference images #2&3).  Torque the bolts to 17 Nm (1.7 m • kgf, 12 ft • lb).   
NOTE:  Use Loctite 572 on bolts. 

3. Apply a thin layer of silicone or Threebond 1211 to the Splash Guard mounting plate/Splash Guard mounting surface 
(reference image #3). 

4. Install Splash Guard onto Splash Guard mounting plate so the RIVA RACING sticker is facing up (Splash Guard will fit one 
way only when carburetors are installed) using the five included 5 X 10mm bolts and M5 wavy washers (reference image 
#4). Torque the bolts to 4 Nm (0.4 m • kgf, 2.9 ft • lb).  NOTE:  Use Loctite 572 on bolts. 

 
IMPORTANT:  Technical Support 

For answers to questions regarding assembly or trouble shooting Riva Yamaha Performance Products contact: 
Riva Yamaha Tech Line at (954) 247-0705, e-mail to tech_support@rivayamaha.com or you’re local Yamaha Dealer. 

 
 Riva Yamaha Limited 90-Day Warranty 

Riva Yamaha Carburetor Splash Guards carry a 90-day limited warranty to the original purchaser.  They are warranted to be free of 
defects in materials and workmanship under normal use and service.  Customer modified components will be void of warranty.  This 
warranty is limited to defects in the primary aluminum components only.  Anodized finish, wear marks in or on the Carburetor Splash 
Guards are not covered under this warranty. 

Riva Yamaha’s liability is expressly limited to the repair or replacement of the aluminum components contained within or associated with 
this part.  Riva Yamaha agrees to repair or at Riva Yamaha’s option, replace any defective unit without charge, if product is returned to 
Riva Yamaha freight prepaid within the warranty period.  Any equipment returned which, in Riva Yamaha’s opinion, has been subjected 
to misuse, abuse, or accident shall not be covered by this warranty. 

Riva Yamaha shall have no liability for special, incidental or consequential damages or injury to persons or property from any cause 
arising from the sale, installation or use of this product. 

No other warranty, express or implied, including, but not limited to the implied warranties of merchantability and fitness for a particular 
purpose, applies.  Various states do not allow for the limitation of incidental or consequential damages and therefore the above 
exclusion or limitation may not apply to you. 

Warranty does not include the expenses related to freight or transportation of parts or compensation for any inconvenience or loss of 
use while being repaired.  A copy of the original invoice must accompany all warranty claims. 

Warranted replacement parts will be returned freight collect. 

 

Remember, the water belongs to everyone! 
Please ride responsibly! 
CARBURETOR SPLASH GUARD 

Word doc. RY12320 © H1 12/30/02  1 

mailto:tech_support@rivayamaha.com


 
 

PART# - RY12320-OE 
INSTALLATION IMAGES 

 
 
 
 

# 1 # 3

 
   

 

  

 

# 2 

Word doc. RY1232
SPLASH GUARD
MOUNTING PLATE
# 4

 

0 © H1 12/30/02  
SILICONE
S 
BOLTS TO BE
CHANGED 
MOTOR MOUNT
2 


	PART# - RY12320-OE
	INSTALLATION INSTRUCTIONS
	
	
	
	
	Riva Yamaha Limited 90-Day Warranty



	PART# - RY12320-OE


	INSTALLATION IMAGES

